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2 1000x0.2=200
|000—200=800 &A 800M
(£7(4, 1000%x0.8=800)

3 480x0.2=96
480—96=384 EA 38418
(F 71, 480%x0.8=384)

4 3800x0.25=950
3800—950=2850 %A 2850H
(%712, 3800%0.75=2850)

5 B800x0.68=544

800—544=256 EZ 256m’

(£ 7213, 800%0.32=256)

2?55&1 (P.118~119)
m X7y T50NERE

400X0.1=40

400+40=440 BAi 4LLOH

(712, 400X|.1=440)

1®21+0.6=35 &4 35A
@5+0.2=25 ‘i 25L
2 288+0.48=600 BA 600A

3 3600+1.2=3000 %&#x 3000kg

4 42.6+1.2=355 & Z 35.5kg

[ 20018

5 120+0.1=1200 BR

-4=p9 . (P.120~121)

m27y751DEE
80-+0.1=800

Lz 800m?

1D052+(52+28)=0.65 &EZ 65%
@20+(20+480)=0.04 %z 4%

2 (500+50)+500=1.1
EZ 110%

3 (250+150)+250=1.6
A 160%

4 (300—270)+300=0.I
BZ | 0%

5 (800—380)+800=0.525
%z 525%

(P.122~123)

BTy TE2MEE
(500—400)+-500=0.2 %z 20%

LA 1+15=

<1 0=-L

A, 12,3 _5_1
@75t70=30730-30- 6
. 1
Kz 5
@1 +4= £i 68

8T 918718 % 6
@I—%zé %z 6H
| -
=3 2 | 1
@g—12=25"25=25 BX 725
@ +5y=24 £Z 248

mﬂ‘ryaﬁll‘ (P.124~125)

B X5y T48DEE

M1 40+7x3=60

@1 40+Tx4=80
(F7z14, 140—-60=80)

BTy TAODEE

AL 60%
BA 80K

(1 100+100)=3=400 %z 400M
B X5y T500EE

400%0.15=60

£00+60=460 ®i 460M
(% 7-12, 400X |.|5=460)
BEXF v T51DER

| 2+0.2=60 ®i 60X
BTy 5201EE
M30+(120+30)=02 %z 20%
@40+(540—40)=0.08 %z 8%
BZX5 vy 530 EE

| 4 3_ 1 y.l_
T5720-60 6060 | "0 00

%% 60H



‘ : !IE@D?'V L YRS (P.126~127)

I y=xx12+2 (y=zxX6)

2 104=(1-0.35)=160
2% 160cm

3 (700%x500+900x300)+
(500+300)=775 %2 775A

4 (D3X16+(4—3)=48 Bz 48K
@D4x48=192-- O EF b DK
| 92+4=48- | DK X
48X48=2304 A 2304m’

5 20®FYiL, 6+6=I2
M1 2+(7T—4)=4 i LA
@4LXb4+6=22 %z 228

6 (L6—12)+(3—1)=17
|7—12=5 EA SEK

7 ©1800+24="75 BA @&RT5m
@Dk
| 800+36=50
| 800+(75+50)=14.4
BA 4471k

1103R1



